

www.battlewin.com.au

Strapping Tapes

Medical Products

CONTENTS

Strapping Tape	4
Mueller Tape	6
Mueller Accessories	9
Mueller Braces and Supports	14
First Aid Kits	20
Bandages and Tapes	22
Rubs, Oils and Creams	24
Various Medical Products	31
Rehabilitation Products	38



Battlewin Sports are a division of the Scribal Group which has been supplying the Australian market with high quality products and services for over 50 years.

We supply a comprehensive range of sports medical and rehabilitation products ideal for sporting teams, clubs, physiotherapists, pharmacies, sports centres and rehabilitators.

Our extensive range has been aggressively sourced through long term relationships and years of applied industry experience. As a result we have obtained very competitive pricing that enables us to pass on great savings to our valued customers.

Our range includes:

- Strapping tape
- Bandages, wraps and foams
- First aid and medical kits
- Rubs, oils and lotions
- First aid supplies
- Medical accessories
- Rehabilitation equipment

WHY CHOOSE BATTLEWIN?

- Competitively Priced, High Quality Products
- ✓ Experienced and Dedicated Customer Service Team
- ✓ Workable Minimum Order Quantities
- ✓ Advanced Digital Printing Equipment
- ✓ In-House Graphic Design Team



STRAPPING TAPE

EPIC RIGID STRAPPING TAPE

- Premium quality strapping tape at an affordable price.
- Rayon/viscose, breathable and latex free.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77838	EPIC Rigid Strapping Tape - Tan	38mm x 13.7m	32	\$4.95	\$158.40
77850	EPIC Rigid Strapping Tape - Tan	50mm x 13.7m	32	\$5.95	\$190.40



BODICHEK RIGID STRAPPING TAPE

- Premium sports tape for strapping.
- Provides stronger control of joint motion and easy to tear during application.

				,		
CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)	
77650	Bodichek Rigid Strapping Tape - Tan	38mm x 13.7m	32	\$6.50	\$208.00	
77655	Bodichek Rigid Strapping Tape - Tan	50mm x 13.7m	24	\$6.95	\$166.80	



BATTLEWIN RIGID STRAPPING TAPE HYPOALLERGENIC

This tape provides superior support to those body parts under high stress.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77112	Battlewin Rigid Strapping Tape Hypoallergenic - White	12mm x 12m	36	\$1.95	\$70.20
77119	Battlewin Rigid Strapping Tape Hypoallergenic - White	19mm x 12m	24	\$2.75	\$66.00
77125	Battlewin Rigid Strapping Tape Hypoallergenic - White	25mm x 12m	24	\$3.50	\$84.00
77138	Battlewin Rigid Strapping Tape Hypoallergenic - White	38mm x 12m	12	\$3.95	\$47.40
77150	Battlewin Rigid Strapping Tape Hypoallergenic - White	50mm x 12m	12	\$4.95	\$59.40



BATTLEWIN EAB - ELASTIC ADHESIVE BANDAGE

Ideal for providing strength, stability and compression to muscles and joints that require flexibility or additional manoeuvrability. Made from 100% cotton fabric

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77325	EAB - Elastic Adhesive Bandage	25mm x 4m	24	\$3.75	\$90.00
77350	EAB - Elastic Adhesive Bandage	50mm x 4m	12	\$7.50	\$90.00
77375	EAB - Elastic Adhesive Bandage	75mm x 4m	12	\$9.95	\$119.40



EPIC STRAP - TEAR LIGHT ELASTIC ADHESIVE BANDAGE

- Strong, lightweight hand tearable elastic adhesive bandage.
- Easy to tear for quick application.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77851	EPIC Strap - Tear Light Elastic Adhesive Bandage	50mm x 4.5m	24	\$3.95	\$94.80
77875	EPIC Strap - Tear Light Elastic Adhesive Bandage	75mm x 4.5m	16	\$4.95	\$79.20



STRAPPING TAPE

BATTLEWIN HAND TEARABLE ELASTIC ADHESIVE BANDAGE

- Battlewin hand tearable elastic adhesive bandage is a highly elastic stretch tape ideal for use on flexible body parts like shoulders and joints.
- Tears easily with your hands.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77050	Battlewin Hand Tearable - Elastic Adhesive Bandage	50mm x 4.5m	12	\$6.50	\$78.00
77075	Battlewin Hand Tearable - Elastic Adhesive Bandage	75mm x 4.5m	12	\$9.95	\$119.40



BATTLEWIN KUTTSUKU HAND TEARABLE SELF ADHESIVE BANDAGE

- Battlewin Premium Self Adhesive Bandages are lightweight and hand tearable for quick convenient application and easy removal.
- This versatile product is ideal for fixation of pads, dressings, splints and ice packs making it the perfect companion for your trainer's bag or first aid kit.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77238	Battlewin Kuttsuku Hand Tearable Self Adhesive Bandage	38mm x 4m	12	\$4.95	\$59.40
77250	Battlewin Kuttsuku Hand Tearable Self Adhesive Bandage	50mm x 4m	12	\$5.75	\$69.00
77275	Battlewin Kuttsuku Hand Tearable Self Adhesive Bandage	75mm x 4m	12	\$7.50	\$90.00



BATTLEWIN KINESIOLOGY TAPE

- Battlewin Premium Kinesiology Tape supports muscles and joints while allowing a safe and functional range of motion.
- The moderately elastic, breathable fabric with strong adhesive qualities provides comfortable and dynamic non-restrictive taping.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77425	Battlewin Kinesiology Tape	25mm x 5m	12	\$4.05	\$48.60
77438	Battlewin Kinesiology Tape	38mm x 5m	8	\$5.95	\$47.60
77450	Battlewin Kinesiology Tape	50mm x 5m	6	\$7.95	\$47.70
77475	Battlewin Kinesiology Tape	75mm x 5m	4	\$11.95	\$47.80



BATTLEWIN UNDER WRAP

- Battlewin Premium Under Wrap applies directly to the skin, pre-taping providing protection and relieving irritation.
- It is ideal for sensitive skin or users with allergies.
- Comfortable, lightweight and easy to use.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
77570	Battlewin Under Wrap	70mm x 25m	12	\$3.95	\$47.40



MUELLER TAPE

SPATTING TAPE

- Ideal for spatting shoes to help secure cleats or cover logos.
- Can also be used to secure braces and padding.
- Lighter stronger design that is also easy to tear.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)	
11670	Spatting Tape - White	50mm x 6.9m	24	\$8.50	\$204.00	



EURO TAPE

- Sports Physiotherapists Tape made especially for European taping techniques.
- Serrated edge for easy tear.
- Extra sticky adhesive.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
13431	Euro Tape - White	25mm x 8m	48	\$4.25	\$204.00
11645	Euro Tape - White	38mm x 11.4m	32	\$6.35	\$203.20
13432	Euro Tape - White	50mm x 10m	24	\$8.50	\$204.00



TEAR-LIGHT TAPE

- Has excellent conformability and superior adhesive.
- Easy to tear and unwind.
- Ideal for use as lateral knee braces, compression wrap or fixation bandage for padding and cold packs.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
11679	Tear-Light Tape - White	50mm x 6.9m	24	\$7.05	\$169.20
11680	Tear-Light Tape - White	76mm x 6.9m	16	\$10.50	\$168.00



EAB TAPE

- Straight edge cut elasticated adhesive bandage that is lightweight, strong and flexible.
- It unwinds smoothly for controlled application and can be applied directly to the skin or over underwrap.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
11638	EAB Tape - White	50mm x 4.5m	24	\$7.05	\$169.20
11639	EAB Tape - White	75mm x 4.5m	16	\$10.50	\$168.00



MUELLER TAPE

STRETCH MTAPE PREMIUM

- Maximum strength tape predominantly for areas and techniques normally difficult to tape.
- Red centre guide helps with consistent taping and feathered edges won't roll up.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
13436	Stretch MTape Premium - White	50mm x 6.9m	24	\$7.05	\$169.20
13437	Stretch MTape Premium - White	76mm x 6.9m	16	\$10.50	\$168.00



M-LASTIC TAPE

- Lightweight, cohesive stretch tape that adheres only to itself.
- Perfect to use as blood spill tape.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
13438	M-Lastic Tape - Natural	50mm x 4.5m	24	\$7.05	\$169.20
13439	M-Lastic Tape - Natural	76mm x 4.5m	16	\$10.50	\$168.00



MWRAP

- Pre-taping foam underwrap helps to protect skin from tape.
- Can also be used to keep hair off face, hold pads and socks in place and as a protective wrap inside athletic footwear.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
11662	MWrap - Natural/Lime/Green/Purple	70mm x 27.5m	48	\$2.95	\$141.60
11661	MWrap - Natural	70mm x 27.5m	16	\$5.25	\$84.00



ADHESIVE MESH SHEETS

- Synthetic fibre with adhesive backing that can be cut to any shape and fitted over any movable surface.
- Sweat resistance and will not wash off.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
13433	Adhesive Mesh Sheets - Natural	6" x 10"	15	\$9.05	\$135.75



MUELLER TAPE

TAPE WRAP

- The alternative to prewrap, compression wraps, wound care and fixation bandages.
- Cohesive, breathable, sweat resistance, high tensile and easy tearing.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
11675	Tape Wrap - White	50mm x 5.5m	24	\$5.65	\$135.60
11676	Tape Wrap - White	76mm x 5.5m	16	\$8.50	\$136.00



KINESIOLOGY TAPE

- Rehabilitates when you use the kinesiology taping method.
- High grade cotton, breathable and stretchy.
- Maintains flexibility of human skin and muscles.
- Adhesive is mild and hypoallergenic.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
1165-	Kinesiology Tape - Black/Blue/Beige/Pink	50mm x 5m	6	\$17.00	\$102.00



RIGID STRAPPING TAPE

- Rayon backed tape with serrated edges for easier tearing and easier unwind.
- High tensile strength for patellofemoral taping and shoulder taping techniques.
- Latex free.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
11664	Rigid Strapping Tape - Beige	38mm x 13.7m	6	\$9.50	\$57.00



PRO STRIP ROLLS

- Helps protect against turf burns, scrapes, blisters and calluses.
- Pressure sensitive abrasion control pre-cut adhesive mesh strips.
- Ideal for sporting activities where abrasions are caused by sporting equipment or apparel.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
15186-152	Pro Strip Rolls - White	152mm	1	\$68.00
15186-75	Pro Strip Rolls - White	75mm	1	\$51.00
15186-50	Pro Strip Rolls - White	50mm	1	\$42.50



M-CUTTER

- Athletic tape cutter that cuts fast and safely.
- Snap in stainless steel blade cartridge makes for easy changing on blades to keep cutter sharp.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11655	M-Cutter		1	\$25.50



BANDAGE SCISSORS

- 7.25 inch scissors.
- Blunt lower blade to safely remove tape and bandages.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11630	Bandage Scissors		1	\$21.25



QUICK DRY ADHERENT SPRAY

Colourless tape adherent that is applied to the skin before taping.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11666	Quick Dry Adherent Spray	10 oz/285g	1	\$21.25
11667	Quick Dry Adherent Spray	4 oz/113g	1	\$17.00



M TAC NON - AEROSOL PRE TAPE SPRAY

- Helps tape and pre-wrap stick to the skin.
- Comes in a non-aerosol bottle with fine spraying nozzle.
- Stainless and fast drying.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13610	M TAC Non - Aerosol Pre Tape Spray	8 oz/237ml	1	\$21.25



TUFFNER PRE-TAPE SPRAY

Spray adherent helps secure tapes and wraps.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13609	Tuffner Pre-Tape Spray	10 oz/285g	1	\$21.25
13608	Tuffner Pre-Tape Spray	4 oz/113g	1	\$17.00



TAPE AND TUFFNER REMOVER

- Removes pre-tape spray and adhesive particles from skin, counter tops and taping benches.
- Can also be applied over tape to loosen adhesive.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11677	Tape and Tuffner Remover Liquid	1 Litre	1	\$42.50
11678	Tape and Tuffner Removal Spray	10 oz/285g	1	\$21.25



ICE BAG WRAP

- Soft, adjustable ice bag wrap ideal for applying cold therapy to small or large body parts.
- Long straps provide a custom fit with firm comfortable compression.
- The ice bag provides cold therapy which helps to relieve pain and swelling.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11648	Ice Bag Wrap - Black		1	\$42.50



COLD/HOT THERAPY WRAP

- Ideal for large body parts to reduce swelling, relieve pain and enhance rehabilitation, this product helps aid the recovery from common sports or work injuries.
- The adjustable side flaps and removable strap allow application to the knee, shoulder, back, thigh, or any large body part.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13611-L	Cold/Hot Therapy Wrap - Black	Large	1	\$42.50
13611-S	Cold/Hot Therapy Wrap - Black	Small	1	\$34.00



COOLANT COLD SPRAY

- Non-medicated spray to cool skin fast.
- Helps relieve pain and swelling.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13887	Coolant Cold Spray (Retail Packaging)	3.5 oz	1	\$25.50
11636	Coolant Cold Spray	9 oz/266ml	1	\$25.50



COLD/HOT REUSABLE PACK

- Helps to relieve pain, limit swelling and protect the injured soft tissue.
- Use heat therapy after cold therapy or to warm muscles to prevent strains.
- This reusable pack is ideal for cold therapy or heat therapy in treating minor scrapes and bruises, muscle aches and sprains, headaches, toothaches, minor burns, and insect bites.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11635	Cold/Hot Reusable Pack (Min Order 12)		1	\$11.05



KOLD TOWEL

- The Mueller Kold Towel is designed with unique super-evaporating PVA material.
- Featuring an inner mesh grid design to easily conform to the body.
- Absorbs moisture and stays cooler than the outside air.
- Compact, absorbent towel holds onto cold water while remaining seemingly dry to the touch.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11654-L	Kold Towel	7cm x 50cm	1	\$21.25



B-SHARP TRACTION ACTION BOTTLE

- Used for cleaning soles of basketball shoes to get better traction.
- Can be used during time-outs and halftime as it is quick drying.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13613	B-Sharp Traction Action Bottle	946ml	1	\$25.50



GLOVE DISPENSER

- Dispenser that clips onto a belt for easy access.
- Dispenser includes six large latex-free nitrile gloves (blue).

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13614	Glove Dispenser (Includes 6 gloves)		1	\$21.25



MAGIC GRIP SPRAY

- Repels water and sweat without being sticky or tacky.
- Washes off with soap and water.
- Can be sprayed directly onto hands or gloves.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11656	Magic Grip Spray (Retail Packaging)	3 oz	1	\$21.25



STICKUM SPRAY

- Aerosol adhesive spray for hands and equipment.
- Helps improve grip even in wet conditions.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11674	Stickum Spray (Retail Packaging)	4 oz	1	\$21.25



STICKUM GRIP POWDER

- Adhesive powder for hands and equipment.
- Helps improve grip even in wet conditions.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
13612	Stickum Grip Powder	1.25	1	\$17.00



GERMA SPRAY

Antiseptic spray helps prevent infection in minor cuts, scrapes and burns.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	
13440	Germa Spray	2 oz	1	\$12.75	



MEDI KITTREKKER

- Travel size medi kit constructed from tough, water resistant material.
- Features rugged wheels for any terrain, rear wall and bottom stiffeners for greater rigidity.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11659	Medi Kit Trekker - Black	22'L x 12.5'W x 10.5'H	1	\$510.00



MEDI KIT CARRY ON

- Large carry on medi kit which holds up to 36L.
- Removable internal dividers and elastic loop holders.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11658	Medi Kit Carry On - Black	18'L x 9.5'W x 10.5'H	1	\$255.00



BUM BAG

- Water resistant bum bag with large compartments.
- Has 5 accessory loops in the main pocket.
- Holds a total of 2L.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11631	Bum Bag - Black	12'L x 5'W x 4.5'H	1	\$34.00



HG80 ANKLE BRACE

- Extra-long dynamic criss-cross figure 8 straps.
- Side heel lock with side stirrup straps.
- Extremely comfortable Mueller exclusive HydraCinn fabric.
- Permanently bonded antimicrobial barrier.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11614	HG80 Ankle Brace - Black	Small/Medium/Large	1	\$68.00



ATF2 ANKLE BRACE

- Next generation inner straps help protect against inversion sprains.
- Single layer of comfortable fabric over the ankle bone.
- Rigid plastic stays act like tendons to reinforce both sides.
- Permanently bonded antimicrobial barrier.
- Latex free and fits either foot.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11611	ATF2 Ankle Brace - White	Small/Medium/Large	1	\$51.00



XLP ANKLE BRACE

- High cut front with narrow profile bottom for more feel, more movement.
- Elastic rear panel for supportive, unrestricted motion.
- Rigid plastic stays help support both sides of ankle.
- Single layer of fabric over ankle bone.
- Fits either foot.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11623	XLP Ankle Brace - Black	Small/Medium/Large	1	\$42.50



ADJUSTABLE ANKLE SUPPORT

- Patented strapping system with criss-cross tension straps.
- Sectional design minimized bunching.
- Seamless edge for extra comfort.
- Fits either foot.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11626	Adjustable Ankle Support - Black	Small/Medium/Large	1	\$25.50



ELASTIC ANKLE SUPPORT

- Firm comfortable support for stiff, weak or sore ankles.
- Contour design helps prevent slippage and bunching.
- Custom top weave helps prevent rolling.
- Fits left or right.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11610	Elastic Ankle Support - Black	Small/Medium/Large	1	\$17.00



HINGED WRAPAROUND KNEE BRACE

- Ideal for active individuals during sports and other physical activities.
- This self-adjusting brace provides maximum medial-lateral support.
- Side hinge pockets help ensure hinge is in the correct position for your knee.
- Metal hinges help protect knee from hyperextension.
- Open back eliminates bunching.
- Maximum support level.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
15241	Hinged Wraparound Knee Brace - Black	Regular/Large	1	\$68.00



SELF ADJUSTING KNEE STABILIZER

- Self-adjusting criss-cross elastic straps above and below the kneecap.
- Steel springs help support both sides of knee.
- Patella buttress helps support kneecap.
- Perforated fabric increases breathability.
- Easy on/off with wraparound design.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11668	Self Adjusting Knee Stabilizer - Black		1	\$51.00



PATELLA STABILIZER (NEOPRENE BLEND)

- Patella buttress helps protect the kneecap.
- Steel springs help support both sides of knee.
- Top and bottom adjustable straps.
- Neoprene retains body heat to provide soothing warmth.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11665	Patella Stabilizer (Neoprene Blend) - Black		1	\$42.50



MAX KNEE STRAP

- Upper compression tube targets quadriceps misalignment.
- Lower compression tube targets patellar tendon.
- Side compression tubes assist patellar tracking.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11657	Max Knee Strap - Black		1	\$42.50



ADJUSTABLE KNEE SUPPORT

- Patented adjustable tension straps.
- Padded double-layer stabilization around kneecap.
- Open patella helps relieve pressure.
- Neoprene blend provides soothing warmth.
- Contour design minimizes bunching.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11629	Adjustable Knee Support - Black		1	\$34.00



OPEN PATELLA KNEE SUPPORT

- Firm comfortable support for minor sprains, strains and arthritic knee conditions.
- Wrap around design for adjustable compression and easy on/off.
- Soothing neoprene warmth helps keep joint flexible.
- Open patella helps relieve pressure on the knee cap.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11663	Open Patella Knee Support - Black		1	\$29.75



ITB STRAP

- Helps relieve pain on the outer side of the knee associated with iliotibial band (ITB) syndrome.
- Textured neoprene prevents slipping and assists moisture management.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11649	ITB Strap - Black		1	\$25.50



JUMPERS KNEE STRAP

- This adjustable strap is designed to improve patellar tracking and elevation by applying mild pressure on the tendon below the kneecap.
- The tubular insert provides uniform pressure to help reduce pain caused by running and jumping.
- Adjustable strap for custom fit.
- Moderate support level.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11620	Jumpers Knee Strap - Black/Red/Blue		1	\$25.50



ELASTIC KNEE STRAP

- Contour design helps prevent slippage and bunching.
- Lightweight elastic knit.
- Custom top weave helps prevent rolling.
- Reinforced trimmed edges.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11613	Elastic Knee Strap - Black	Small/Medium/Large	1	\$17.00



ADJUSTABLE ELBOW SUPPORT

- Slip-on design for easy adjustment.
- Hydramesh® moisture-managing fabric panel.
- Extended coverage for additional support.
- Antimicrobial barrier reduces bacteria on the brace.
- Fits left or right.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11628	Adjustable Elbow Support - Black		1	\$34.00



ELBOW SUPPORT

- Adjustable straps ensure proper fit with minimal bunching.
- Soft neoprene blend retains body heat for soothing warmth.
- Even, adjustable compression.
- Fits left or right.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11643	Elbow Support - Black		1	\$29.75



TENNIS ELBOW SUPPORT

- Provides excellent pain relief caused by any activity involving strain on the forearm and elbow.
- Adjustable strap targets compression.
- Lightweight and comfortable.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11682	Tennis Elbow Support - Black		1	\$25.50



ELASTIC ELBOW SUPPORT

- Firm comfortable support for stiff, weak or sore elbows.
- Contour design helps prevent slippage and bunching.
- Lightweight elastic knit.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11612	Elastic Elbow Support - Black	Small/Medium/Large	1	\$17.00



WRIST BRACE WITH SPLINT

- Helps relieve pain associated with Carpal Tunnel Syndrome.
- Adjustable tabs with wraparound design and removable splint.
- Padding around splint for extra comfort.
- Breathable fabric, fits left or right.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11685	Wrist Brace with Splint - Black		1	\$29.75



WRIST SUPPORT WRAP

- Soft neoprene blend retains heat to help improve circulation and flexibility.
- Unique thumb loop for easy on/off.
- Perforated fabric increases breathability.
- One size.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11686	Wrist Support Wrap - Black		1	\$21.25



ELASTIC WRIST SUPPORT WITH LOOP

- Wraparound strap provides adjustable compression.
- Elastic loop makes for easy on/off.
- One size.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11642	Elastic Wrist Support with Loop - Black		1	\$17.00



SHOULDER SUPPORT

- Soft neoprene blend provides even compression and retains body heat to help increase circulation, promote healing and help relieve pain.
- Recommended for muscle strains, ligament sprains, injuries to rotator cuff, impingement syndrome, arthritis and bursitis of the shoulder.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
15185	Shoulder Support - Black	Small/Medium/Large/X-Large	1	\$85.00



ADJUSTABLE BACK BRACE

- Provides firm comfortable support to help relieve back pain.
- Broad support from main 9" elastic band.
- Adjustable tension from 4" elastic straps.
- Eight flexible steel springs conform for lumbar support.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11627	Adjustable Back Brace - Black		1	\$51.00



WAIST SUPPORT

- Soft neoprene blend and contoured shape easily conforms to hips.
- Retains heat for soothing warmth.
- Single large band for easy on/off.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11684	Waist Support - Black		1	\$42.50



CALF/SHIN INJURY SUPPORT

- Provides firm, comfortable compression to help relieve pain.
- Soft neoprene blend retains body heat to help promote circulation.
- Large features extra-long coverage and wraparound design for easy on/off.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11633	Calf/Shin Injury Support - Black	Regular	1	\$34.00
11632	Calf/Shin Injury Support - Black	Large	1	\$34.00



THIGH SUPPORT

- Soft neoprene blend retains body heat to help improve circulation.
- Contour design and fully-trimmed edges provide comfortable fit.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
11683	Thigh Support - Black		1	\$29.75



FIRST AID KITS

BATTLEWIN TRAINERS BUM BAG

- Handy and convenient with a number of separate compartments.
- Ideal for quick and easy access for trainers and support teams.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
77736	Battlewin Trainers Bum Bag (Black/Red) - Includes Travellers First Aid Kit		1	\$49.95



BATTLEWIN PREMIUM MEDICAL KIT

- Our Premium Medical Kits are the ideal companion for trainers, sporting clubs, schools and physios.
- Contains all your basic first aid supplies.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
77735	Battlewin Premium Medical Kit		1	\$149.95

^{*} Detailed contents list available on request.



BATTLEWIN DELUXE MEDICAL KIT

- Battlewin Deluxe Medical Kit contains everything you require to get through even the busiest season.
- Tape, first aid, sprays, ointments all included!

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
77730	Battlewin Deluxe Medical Kit		1	\$295.95

^{*} Detailed contents list available on request.



TRAVELLERS FIRST AID KIT

- Portable and user friendly, this compact first aid kit provides all your everyday first aid essentials at an affordable price.
- Put one in the car or boot, hang it from a hook, swing it from your backpack or carry it by hand.
- Ideal for every home, office, car or boat.
- Keep it handy and be prepared for an emergency.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
170108	Travellers First Aid Kit		1	\$49.95

^{*} Detailed contents list available on request.



FIRST AID KITS

SURVIVAL FIRST AID KIT - CLASS B PORTABLE

- A comprehensive first aid kit which enables the user to provide immediate and vital first aid.
- Contains essential treatment instruments, materials and aids needed to respond to most first aid situations.
- Make workplace safety a priority and ensure your employees have access to the correct treatment in case of emergencies.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
170104	Survival First Aid Kit - Class B Portable		1	\$89.95

^{*} Detailed contents list available on request.



BATTLEWIN BUM BAG

- Handy custom designed waist bag with multiple compartments.
- Includes adjustable waist, zippered pockets and water bottle holder.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
G1340	Battlewin Bum Bag - Black		1	\$14.95
G1341	Battlewin Bum Bag - Red		1	\$14.95



BATTLEWIN TAPING BAG

- Padded Taping Bag with multiple compartments for easy access.
- Convenient top and shoulder carry handles.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
77601	Battlewin Taping Bag - Black		1	\$99.95



BATTLEWIN TRAINERS TRUNK

- Heavy duty medical case for added protection.
- Lockable with multiple, adjustable compartments for easy access and storage.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
77600	Battlewin Trainers Trunk		1	\$299.95



BANDAGES AND TAPES

SMITH & NEPHEW FIXOMULL STRETCH

- Fixomull Stretch is a wide area adhesive tape, especially suitable for use on frequently mobile and highly contoured parts of the body.
- It is made from a white, stretchable, non-woven polyester dressing sheet coated with skin friendly polyacrylate adhesive on quick-release backing paper.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)
	Smith & Nephew Fixomull Stretch	50mm x 10m	1	\$12.95
	Smith & Nephew Fixomull Stretch	100mm x 10m	1	\$27.95



SMITH & NEPHEW HYPAFIX

- Hypafix provides dressing retention without restricting the patient's mobility.
- The good air and moisture permeability lets the skin breathe.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)
	Smith & Nephew Hypafix	25mm x 10m	1	\$11.95
	Smith & Nephew Hypafix	50mm x 10m	1	\$12.95
	Smith & Nephew Hypafix	100mm x 10m	1	\$24.95



SMITH & NEPHEW LEUKOFOAM

- Leukofoam orthopedic support foam is used to cushion, support and add protection in conjunction with taping and bandaging.
- Ideal for padding boots to prevent blisters or further irritation of existing bruised or injured areas.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)
	Smith & Nephew Leukofoam	100mm x 5m x 4mm	1	\$ 69.95



ELASTOLITE LIGHT SUPPORT CREPE BANDAGE

Elastolite is a white cotton crepe bandage ideal for use on awkward contours of the body.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)
	Elastolite Light Support Crepe Bandage	50mm x 1.5m	1	\$1.65
	Elastolite Light Support Crepe Bandage	75mm x 1.5m	1	\$1.95
	Elastolite Light Support Crepe Bandage	100mm x 1.5m	1	\$2.65
	Elastolite Light Support Crepe Bandage	150mm x 1.5m	1	\$3.95



HANDY CREPE - HEAVY CREPE BANDAGE

- Handy Crepe is a high quality heavy-weight, white cotton crepe bandage.
- Non-fraying edges and a clip to secure bandage included.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)
	Handy Crepe - Heavy Crepe Bandage	50mm x 2.3m	1	\$3.95
	Handy Crepe - Heavy Crepe Bandage	75mm x 2.3m	1	\$5.95
	Handy Crepe - Heavy Crepe Bandage	100mm x 2.3m	1	\$6.95
	Handy Crepe - Heavy Crepe Bandage	150mm x 2.3m	1	\$9.95



BANDAGES AND TAPES

MICROPORE TAPE

Micropore is a paper back non-allergenic surgical tape ideal for securing dressings.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
	Micropore Tape	12.5mm	24	\$1.95	\$46.80
	Micropore Tape	25mm	12	\$2.95	\$35.40
	Micropore Tape	50mm	6	\$3.95	\$23.70



TUBIGRIP - ELASTICATED TUBULAR BANDAGE

Tubigrip provides tissue support in the treatment of sprains, soft tissue injuries, joints effusions, general edema, post-burn scarring and rib cage injuries.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Tubigrip - Elasticated Tubular Bandage	Size A	1	\$19.95
	Tubigrip - Elasticated Tubular Bandage	Size B	1	\$21.95
	Tubigrip - Elasticated Tubular Bandage	Size C	1	\$24.95
	Tubigrip - Elasticated Tubular Bandage	Size D	1	\$25.95
	Tubigrip - Elasticated Tubular Bandage	Size E	1	\$27.95
	Tubigrip - Elasticated Tubular Bandage	Size F	1	\$28.95
	Tubigrip - Elasticated Tubular Bandage	Size G	1	\$32.95



TRIANGULAR BANDAGE

- Bleached white calico cotton bandage that can be washed and re-used.
- Lightweight open weave gauze allows air flow for circulation.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Triangular Bandage	90cm x 90cm x 130cm	1	\$3.05



SCRIBAL CO-ADHESIVE BANDAGE

- High quality cotton and rayon cloth bandage is co-adhesive, reusable, non-adhesive and self adhering.
- Allowing greater compression that will not slip or loosen during activity, these bandages will stick to themselves but not skin or hair.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
67530	Scribal Co-adhesive Bandage (Assorted Colours)	75mm x 4.5m	24	\$2.95	\$70.80
67531	Scribal Co-adhesive Bandage (Assorted Colours)	100mm x 4.5m	18	\$3.95	\$71.10



MEDIWIPES

- Mediwipes disinfectant towelettes contain Ethanol, a rapid active agent against organic matter.
- With Mediwipes no pre-cleaning of a surface is required.
- Eliminate bacterial contaminant from all surfaces and utensils.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Mediwipes		1	\$19.95



AVAGARD ANTISEPTIC HAND WASH

Avagard Antiseptic Hand and Body Wash is designed for use prior to procedures such as dressing wounds or contact with urine.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Avagard Antiseptic Hand Wash	500 mls	1	\$24.95



AQIUM HAND SANITISER

- Agium is a quick and convenient way to sanitise your hands on the go.
- Aqium kills 99.99% of germs fast.
- It is non sticky and air dries quickly.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Agium Hand Sanitiser	250 mls	1	\$9.95



SORBOLENE CREAM WITH GLYCERIN

- Sorbolene Cream with Glycerine is excellent for dry, damaged and sensitive skin.
- Due to its high moisturising action and its ability to trap and significantly reduce moisture loss from the skin, it produces a very soft, supple and smooth skin quickly.
- Regular use of Sorbolene Cream protects against the drying and damaging effects of exposure to cold, sun and pollution.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Sorbolene Cream with Glycerin	500 grms	1	\$6.75
	Sorbolene Cream with Glycerin	1 Litre	1	\$9.95



PREMAX ORIGINAL MASSAGE CREAM

- Combines Beeswax, Essential oils, Aloe and Vitamin E, Premax Original is the firmest cream in PREMAX range providing maximum feel and control.
- It has light refreshing scent of Peppermint and Lavender.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Premax Original Massage Cream	450 grms	1	\$24.95



PREMAX ESSENTIAL PREMIUM MASSAGE CREAM

- Combines Shea Butter, Cocoa Butter, Essential Oils, Beeswax, Aloe and Vitamin E and has a light citrus scent that leaves the skin feeling fresh and invigorated.
- Premax Essential has a light consistency perfect for general massage.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Premax Essential Premium Massage Cream	450 grms	1	\$24.95



PREMAX SPORT PREMIUM MASSAGE CREAM

- Combines Beeswax, Aloe, Vitamin E, heating ingredients Wintergreen and Menthol.
- Ideal for preparing people for sport or during clinical treatment when a warming effect is required.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Premax Sport Premium Massage Cream	450 grms	1	\$31.95



PREMAX MASSAGE LOTION

- Combines skin healthy ingredients such as Shea Butter and Sweet Almond Oil to create a smooth, silky and unscented massage lotion.
- Premax Lotion is the lightest of the Premax range with more glide and effortless workability.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	
	Premax Massage Lotion	1 Litre	1	\$25.95	



PREMAX SUNSCREEN

- Premax Sunscreen is super quick dry, non-greasy, 4 hour water and sweat resistant formula and the best sunscreen for sports and exercise.
- Premax Sunscreen provides broad-spectrum SPF30+ protection against the suns damaging rays whilst you're outside getting fit.
- It also contains Aloe Vera and Vitamin E helping the skin maintain its condition.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Premax Sunscreen	50 mls	1	\$7.95

ALLCARE MASSAGE LOTION

- A non-conducive, non-scented and non-greasy therapeutic massage lotion.
- Available in 1 litre pump pack containers.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allcare Massage Lotion	1 Litre	1	\$26.95



VASELINE PETROLEUM JELLY

- Vaseline Petroleum Jelly is a mixture of mineral oils, paraffin and microcrystalline waxes that, when blended together, create something remarkable.
- A smooth jelly that has a melting point just above body temperature.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Vaseline Petroleum Jelly	100 grms	1	\$8.95



VOLTAREN EMULGEL

For temporary relief of local pain and inflammation in acute soft tissue injuries and localised soft tissue rheumatism including sprains, tendonitis, bursitis and sports injuries.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Voltaren Emulgel	50 grms	1	\$21.95
	Voltaren Emulgel	100 grms	1	\$31.95



VICKS VAPORUB

Used to assist in the relief of laboured breathing when congested.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Vicks Vaporub	100gms	1	\$16.95



FLEXALL GEL

- Flexall with its unique Aloe Vera Gel formula provides fast, long lasting relief for painful muscles and joints.
- Penetrates quickly and deeply.
- Moisturisers skin and is non-greasy.
- Vitamin E enriched.

	CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
		Flexall Gel	113 grms	1	\$18.95
ĺ		Flexall Gel	452 grms	1	\$34.95



METSAL CREAM TUBE

- Metsal Cream is for relief of strains and muscular pain.
- Non-Greasy.
- Non-Staining.
- Invisible.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Metsal Cream Tube	125 grms	1	\$15.95



METSAL CREAM TUB

- For temporary relief of pain associated with strains of joint and muscles.
- Cream penetrates quickly to provide rapid relief from pain.
- Ideal for use as a pre and post sports rub.
- Non-greasy and non-staining.
- Contains: Methyl Salicylate; Eucalyptus Oil and Menthol.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Metsal Cream Tub	500 grms	1	\$29.95



ANTI - FLAMME CRÈME

- Anti Flamme Creme aids in management of bumps, bruises, aches and strains caused by various physical or sports related activities.
- It helps to reduce muscular aches and pain, soft tissue trauma such as sprains and bruising, and may help reduce joint inflammation associated with arthritis.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Anti - Flamme Crème	90 grms	1	\$16.95
	Anti - Flamme Crème Tub	450 grms	1	\$42.95



ALLCARE PT RUB

- Allcare Rub has been exclusively formulated using premium botanical extracts and essential oils.
- The easy to apply cream penetrates deeply into muscles to reduce swelling and relieve pain.
- Rub on sprains, strains, bumps, bruises, arthritic joints and aching muscles.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allcare PT Rub	90 grms	1	\$9.95
	Allcare PT Rub	450 grms	1	\$27.95



ALLCARE HOT RUB

Pre-event warm up cream to help prevent injury by maintaining muscle temperature.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allcare Hot Rub	90 grms	1	\$9.95
	Allcare Hot Rub	450 grms	1	\$27.95



PERSKINDOL ACTIVE GEL

- Perskindol active relieves the pains of sporting injuries and soothes aching joints.
- The unique duel action, plant based formulation goes cool for immediate relief and is quickly replaces by a soothing heat - activating peripheral circulation and promoting heating.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Perskindol Active Gel	100 grms	1	\$13.95
	Perskindol Active Gel	1 Litre	1	\$99.95



PERSKINDOL ACTIVE GEL SPRAY

- Perskindol Active provides a unique sensation of "cooling/heating" giving effective therapy for muscular aches and pains.
- Goes on cool to relieve pain immediately.
- Warms up fast to soothe and relax tight muscles.
- Activates the metabolism in the treated muscle tissues.
- Penetrates quickly without leaving a residue on the skin.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Perskindol Active Gel Spray	150 mls	1	\$14.95



PERSKINDOL COOL GEL

- Perskindol Cool Gel is applied to heal injuries to the musculoskeletal system caused by overexertion.
- This herbal pain-alleviating compound ensures rapid cooling and pain relief in the affected part of the body.
- Perskindol Cool gel is suitable for alleviating pain and inhibiting inflammation.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Perskindol Cool Gel	100 mls	1	\$13.95



SMITH & NEPHEW TENSOSPRAY

- Tensospray is a convenient adhesive spray which leaves a thin protective film over the surface of the skin.
- This provides an ideal layer for adhesive bandages and tapes, promoting excellent adhesive traction and reducing skin trauma on removal.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Smith & Nephew Tensospray	300 mls	1	\$24.95



SAVLON ANTISEPTIC CREAM

Used on cuts, scratches, blisters, grazes, windburn, sunburn, nappy rash, insect bites, cracked and itchy skin.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Savlon Antiseptic Cream	75 grms	1	\$8.95



DETTOL ANTISEPTIC LIQUID

Use Dettol Antiseptic Disinfectant Liquid to kill germs on the skin, to help protect against infection from cuts, scratches and insect bites.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Dettol Antiseptic Liquid	250 mls	1	\$8.95



BETADINE LIQUID SPRAY

- Betadine Liquid Spray treats minor cuts, abrasions and minor burns and the treatment of minor skin infections.
- It rapidly kills bacteria, fungi and viruses commonly responsible for wound and skin infection.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Betadine Liquid Spray	75 mls	1	\$32.95



BETADINE ANTISEPTIC LIQUID

- Betadine Antiseptic Liquid is a bactericidal, fungicidal and virucidal antiseptic useful for the treatment of common skin infections such as infected nails, tinea, and prevention of infection in minor burns, cuts
- Betadine antiseptics are among the most effective antiseptics available, inactivating all known types of infecting organisms - bacteria, fungi and even viruses.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Betadine Antiseptic Liquid	100 mls	1	\$14.95



SALINE SOLUTION BAXTER

- Resealable 500ml bottle for multiple uses.
- Mainly for eye irrigation, but can be used on wounds.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Saline Solution Baxter	500 mls	1	\$9.95



SALINE AMPOULES

- 30ml ampoules ideal for single use to minimise waste.
- Mainly for eye irrigation, but can be used on wounds.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
	Saline Ampoules (30 per carton)	30 mls	30	\$2.50	\$75.00



PROPAX STERILE EYE PADS

Made from absorbent wadding and covered with non-woven rayon.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
	Propax Sterile Eye Pads	6cm x 7.5cm	50	\$0.95	\$47.50



GAUZE SWABS

This comprehensive range of plain swabs is designed to meet the needs of the operating theatre, hospital and medical environments.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Gauze Swabs - 100s	5cm x 5cm	1	\$3.50
	Gauze Swabs - 100s	7.5cm x 7.5cm	1	\$5.95



PROPAX STERILE GAUZE SWABS

- Green gauze swabs in a dispenser box 20 packs per box.
- Each pack contains five 12-ply green gauze swabs, sealed in a plastic pouch with peelable paper lid.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Propax Sterile Gauze Swabs - 5s	7.5cm x 7.5cm	1	\$1.95



MEDI - SWABS

- These sterile, skin cleansing swabs allow for fast and easy skin cleansing.
- Medi Swabs are made in a 2 ply non-woven material infused with 70% Isopropyl Alcohol BP.
- They are sealed in a single, flexible laminate sachet and come in easy-to-tear-apart strips of five.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Medi - Swabs 200s		1	\$13.95



LATEX EXAMINATION GLOVES

- Latex examination gloves come in various sizes to suit all wearers.
- The gloves are lightly powdered.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
130065	Latex Examination Gloves (100s)	Small	1	\$14.95
130066	Latex Examination Gloves (100s)	Medium	1	\$14.95
130067	Latex Examination Gloves (100s)	Large	1	\$14.95



CUTIPLAST - WOUND DRESSING

- Cutiplast Steril is a soft conformable sterile dressing especially useful in areas of curvature and flexion such as knees and elbows, hirsute areas and in situations of high humidity as the porous material breathes.
- Non-lint low adherent wound pad covered with hypoallergenic Fixomull.
- Cutiplast Steril is made of a non-woven polyester fabric with a porous acrylic adhesive coating.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Cutiplast - Wound Dressing	60 x 50mm (roll)	1	\$25.95



CUTIFILM PLUS - WATERPROOF ISLAND DRESSING

- Cutifilm Plus is bacteria proof and water proof.
- The thin polyurethane film is coated with hypoallergenic acrylic adhesive reducing the risk of an allergic reaction, with a viscose fibre pad and a low adherent wound contact layer.
- Transparent film dressing that is permeable to moisture vapour and oxygen.
- The two tab edges allow the dressing to be easily and quickly applied.
- The wound pad is highly absorbent and allows the skin to breathe.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
	Cutifilm Plus - Waterproof Island Dressing	80 x 100mm (Packet)	25	\$6.95	\$173.75



ADHESIVE PLASTIC STRIPS

- Non-adherent pad cushions the wound and allows for gentle removal.
- Greater coverage of wound provides greater protection.
- Breathable holes promote air circulation.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Adhesive Plastic Strips	72 x 20mm	1	\$4.95



THERMO ACCIDENT BLANKET

- Aluminium film blanket.
- Useful in retaining body heat.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Thermo Accident Blanket	185 x 130cm	1	\$5.95



ABSORBENT COTTON WOOL

Made of absorbent rayon/cotton blend.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Absorbent Cotton Wool	375g Roll	1	\$7.95



ABSORBENT COTTON WOOL BUDS

Cotton Wool Buds are made of a mixture of cotton and rayon fibre blends, providing excellent absorbency.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Absorbent Cotton Wool Buds (200 Balls)		1	\$7.95



COTTON TIPS

Cotton Tips are soft, absorbent and hygienic for medical and general purpose use.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Cotton Tips (50's)		1	\$1.95



ELASTOPLAST BLISTERPLASTER

- Helps blisters to heal faster.
- Extra strong adhesion on feet.
- Seals safely against dirt and bacteria.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Elastoplast Blisterplaster (6 per pack)		1	\$9.95



SPENCO 2ND SKIN SQUARES

- This revolutionary hydrogel dressing helps protect against blisters, pressure and friction.
- Helps bring cooling relief to stings, bites, poison ivy and blisters.
- Tub contains 200 x 1" squares.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Spenco 2nd Skin Squares (200 per pack)		1	\$69.95



ALLCARE COLD GEL PACK

- A premium cold pack ideal for providing soothing cold therapy.
- Reusable and non toxic.
- Pack will not leak.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allcare Cold Gel Pack	13.5 x 27.5cm	1	\$3.95
	Allcare Cold Gel Pack - Large	20 x 30cm	1	\$6.95



ALLCARE INSTANT ICE PACK

A reusable instant cold pack that can be used first time straight from the packet then subsequently as a standard gel cold pack.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)	CARTON (+ GST)
	Allcare Instant Ice Pack	15 x 25cm	24	\$3.50	\$84.00



LP ICE BAGS

- Bag may be filled up to 2/3 full with ice or cold water and applied directly to the affected area for soothing ice therapy.
- Easy to apply.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	LP Ice Bags	15cm	1	\$19.95



ICE WRAP AND DISPENSER

- Used to hold ice or ice packs in place.
- Convenient and easy to use allowing for quick application.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Ice Wrap and Dispenser	100mm x 250m	1	\$12.95
	Ice Wrap Only	100mm x 250m	1	\$9.95



SM HOT/COLD PACK

SM Hot/Cold Pack is specially designed for comfortable and convenient application of heat or cold to painful areas of the body.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	SM Hold/Cold Pack Medium		1	\$6.95
	SM Hold/Cold Pack Large		1	\$9.95



ELITE LIGHTWEIGHT PORTABLE MASSAGE TABLE

- Elite portables are one of the strongest and lightest tables available.
- It comes standard with a face hole recess plug and the capacity to accept the addition of a more luxurious, optional face cradle.
- The table height is fully adjustable with an incredible 8 height increments.
- Weighs only 12.5kg and is easy to set up and fold away without any of the fuss or noise of locking buttons.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Elite Lightweight Portable Massage Table	1840mm x 635mm	1	\$450.00



UNIVERSAL BANDAGE SCISSORS

Black plastic autoclavable handles, stainless steel blades.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Universal Bandage Scissors	15cm	1	\$12.95



LISTER BANDAGE SCISSORS

Lister Bandage Scissors employ a blunt tip design to safely lift bandages from the skin for easy cutting.

CODE	DESCRIPTION	SIZE CARTON		ITEM (+ GST)
	Lister Bandage Scissors	18cm	1	\$19.95



INFLATABLE ICE BATH

- Inflatable Ice Bath has been designed for individuals and teams to aid recovery after moderate to intense training or competition.
- Easy to inflate, fill, deflate and transport.
- Comes with a rechargeable battery air pump.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Inflatable Ice Bath - Solo		1	\$395.00
	Inflatable Ice Bath -Team		1	\$450.00





STRETCHERS - POLE/SCOOP/SPINE

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Stretchers - Pole/Scoop/Spine		1	POA



TRAINERS VEST HI VIS

- Essential for any team training.
- High visibility material.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Trainers Vest Hi Vis Orange/White/Yellow	Small/Medium/Large/XL/XXL	1	\$9.95



BATTLEWIN DELUXE BACKPACK

- Durable 600D polyester / ripstop nylon construction.
- Large main compartment for all your sports gear.
- Music pocket, headphone port and air mesh padded back and straps.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
G1332	Battlewin Deluxe Backpack	330mm (w) x 180mm (d) x 430mm (h)	1	\$19.95



BATTLEWIN DELUXE GEARBAG

- Durable 600D polyester / ripstop nylon construction.
- Adjustable / detachable padded shoulder straps.
- Multiple compartments, separate shoe / boot compartment.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
G1333	Battlewin Deluxe Gearbag	540mm (w) x 260mm (d) x 260mm (h)	1	\$24.95



BATTLEWIN GYMSAC

- 420D Nylon with PVC backing with main drawstring compartment.
- Drawstring can be used as carry handles or backpack straps.
- Business card holder.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
G1334	Battlewin Gymsac	33w x 48h cm	1	\$6.95



ELECTRICAL TAPE

Multi purpose, high quality tape for variety of uses.

CODE	DESCRIPTION	SIZE	CARTON	ROLL (+ GST)	CARTON (+ GST)
	Electrical Tape - Black/White/Red/Blue/ Yellow-Green/Green/Yellow/Silver	18mm x 25m (10 per roll)	1	\$1.65	\$16.50



REHABILITATION PRODUCTS

ALLBAND ROLLS

- Used in the rehabilitation and strengthening of joints in the musculature system.
- The resistance is marked by colour of the band, light colours = light resistance, and dark colours = heavy resistance. Steady 30% increase from colour to colour.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allband Rolls - Yellow Light Resistance	5.5m	1	\$14.95
	Allband Rolls - Red Medium Resistance	5.5m	1	\$16.95
	Allband Rolls - Green Firm Resistance	5.5m	1	\$19.95
	Allband Rolls - Blue Extra Firm Resistance	5.5m	1	\$22.95
	Allband Rolls - Black X-Extra Firm Resistance	5.5m	1	\$25.95
	Allband Rolls - Silver XX-Extra Firm Resistance	5.5m	1	\$28.95



ALLBAND LENGTHS

- Used in the rehabilitation and strengthening of joints in the musculature system.
- The resistance is marked by colour of the band, light colours = light resistance, and dark colours = heavy resistance. Steady 30% increase from colour to colour.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allband Lengths - Yellow Light Resistance (Band)	1.5m	1	\$9.95
	Allband Lengths - Red Medium Resistance (Band)	1.5m	1	\$9.95
	Allband Lengths - Green Firm Resistance (Band)	1.5m	1	\$11.95
	Allband Lengths - Blue Extra Firm Resistance (Band)	1.5m	1	\$11.95
	Allband Lengths - Black X-Extra Firm Resistance (Band)	1.5m	1	\$11.95



ALLBAND TUBING

- Used in the rehabilitation and strengthening of joints in the musculature system.
- The resistance is marked by colour of the band, light colours = light resistance, and dark colours = heavy resistance. Steady 30% increase from colour to colour.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Allband Tubing - Red Medium Resistance	1.5m	1	\$6.95
	Allband Tubing - Green Firm Resistance	1.5m	1	\$7.95
	Allband Tubing - Blue Extra Firm Resistance	1.5m	1	\$8.95
	Allband Tubing - Black X-Extra Firm Resistance	1.5m	1	\$9.95
	Allband Tubing - Silver XX-Extra Firm Resistance	1.5m	1	\$10.95



ROUND FOAM ROLLER

- Excellent for balance, physiotherapy, rehabilitation programs, pilates or yoga.
- Used for soft tissue work, stretching, massage, stability exercises, core strengthening, injury prevention.
- Made of high density eva foam.

CODE	DESCRIPTION	SIZE	CARTON	ITEM (+ GST)
	Small Round Foam Roller - Blue	30 x 15cm	1	\$21.95
	Large Round Foam Roller - Blue	90 x 15cm	1	\$44.95



WHY CHOOSE BATTLEWIN?



Competitively Priced, High Quality Products



Experienced and Dedicated Customer Service Team



Workable Minimum Order Quantities



Advanced Digital Printing Equipment



In-House Graphic Design Team



Australia Wide Delivery

BATTLEWIN SPORTS

Toll Free: 1800 805 502 **Phone**: (02) 4348 7000

Fax: (02) 4348 7140

Email: sales@battlewin.com.au **Web:** www.battlewin.com.au



